
A (Printed Pages 8) 

Roll No. ____ _ 

A-89 
B.A. (Part-III) Examination, 2016 

(Regular & Exempted) 

ECONOMICS 

Paper-III (A) 

(Quantitative Methods) 

Time Allowed: Three Hours J [ Maximum Marks : 50 

Note : Answer five questions in all. Question No.1 

is compulsory. Attempt one question 

from each unit. Marks are indicated against 

each question. 

1. (i) 

(ii) 

Wff tiro ~ ~ -:ffi'R ~I ~ ~.1 3iPfat4 ~I 

~~~t!Q>~~I ~~~3fc5 
ffi mlR W@ ii .· 

Paasche's Index Number. 2 

qm cf5T '«-cl cf5i d5 

Complex Numbers 2 

ffi~~ 
(iii) If ~d2 = 12 and n = 10, find the rank 

correlation. 2 
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(2) 

~ Id2 = 12 c'fW n = 10 c'IT ~ ~-~ 
mc=r Wl!I 

3 0 

( iv) If Y = 4x - 3x find dy 
3x ' dx 

~ . 4x3 - 3x 
Y 3x 

(v) Square Matrix 

cflT ~~<ffi 

2 

2 

· (vi) Tickets are numbered from 1 to 100. 

A-89 

They are well shuffled and a ticket is drawn 

randomly. What is the probability that the 

drawn ticket has a number which is a 

square? 

IBc5cT ~ ~ Q"$ l 1 ~ 100 3ITT: ~ 3lmT ~ 
~ mffi rem 1lm ~ I 3m t!<P ftcoc. <.114ma, croa, 
~ Pia,, C'fi "3fr<IT ~ 1 cf(lT ~ ~ FcB Pia,, rn mu 
~ ~ 3ta5 FcITTn- 3ta5 q5J cm mm? 

(vii) If A=[! ! !] findATwhereATisAtrans-

pose. 2 

~ A=[! ! :J c'IT AT ffld ~.AT~ A 
~ 

(3) 

(viii) Histogram 

3m:Rf fir.:1-
2 

(ix) Components of time series 

am,r~~~ 

2 

(x) Graphically explain the kinds of Kurtosis. 

2 

~~!;!Titfo:1 ~ ~ cf5T ~mo~ tll4$i1$el 

Unit - I 

~-I 

2. (a) If a2
, b2

, c2 are in A.P. then show that 

1 1 1 . 
-b-,--,--b are also in arithmetic 

+c c+a a + 

progression. 2 V2 

~ a2
, b2

, c2 tllil'*R ~ 1l ~ c'IT ~ ~ 

fc5 _l_ _l_ - 1- 'm tlitl.:CF( ~ 1l ~ i' 
b + c'c + a'a + b 

(b) Sum the GP: 

1 1 1 
-,2'3'""'' 3 3 3 

3q111l81 ~ q5J ~ mc=r ~ : 
1 1 1 
-,2'3'"'"' 3 3 3 

( c) Find the vertex and directrix of the pa_-

rabola x 2-8x+2y+ 7=0. 2 V2 
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3. 

(4) 

q..!_clcill x2-8x+2y+ 7=0 a5T ;nm c=rm ~ 
We, ~I 

COS
2 8 1 + cot2 8 

(a) Prove that . 2 8 
= 

1 
t 2 

8 sin + an 
. 2 2 
~ ~ fa; cos e 1 + cot e 

sin2 8 1 + tan2 8 

(b) A line passes through points (-3, 10) and 

the sum of its intercepts on the axes is 

8. Find the equation. 2y2 

n, tRc1 ZX9T (Pf tl~(\l_cf5{UI We, ~ Jil" ~ 
(-3, 10) ~ ~ t c=rm Jtarr -a,~= wrs cpf _ 

tlllT 8 t1 

· [3 1 2] B=r~ ( c) If A = 
1 0 1 

and 
3 

AB :f:. BA. 

Unit - II 

~ - II . 

-11 ~ show that 

a2z a2z 
4. (a) If Z = 3Jxv show that axay = ayax 

A-89 

a2z a2z 
~ z = 3jxy m ~~fa; axay = ayax 

(b) Find the maximum and minimum values 

of the function. 2 1/2 

(5) 

2x3-21x2+36x-20=0 

~ ·2x3-21x2+36x-20=0 -a,~ c=rm 
~..J<1J.1 llR Wc'f. ~I . 

( c) The demand function x=48-3p2 find _th~ 

elasticity of demand at p=3. 2 112 

fc5m ~ c5T m1T t5FR' ~ ~ rnlT 7Tm i 
x=48-3p2

, p=3 ~ lIT1T cm ~ ffl ~I 

5. (a) The total cost function of a firm is C=2Q-

2Q2+Q3 Where C= Total cost and Q=Total 

Quantity, find-

(i) Average Cost function 

(ii) Marginal Cost function . 31/2 

1!cP Q5+f coT g>rf. ffilfci ~ l C=2Q-2Q2+Q3 

(C= g>rf ffimf c=rm Q= Wff 3c<llc!.:J) <'IT ffl 

~ 
( i) 3ITTlCT rm@ q5rf., 

(ii) ff! A I .:a ffimf q5rf., 

. dy 
(b) Find dx 4 

A-89 

(i) If 2z=l-y2 and y=x2+3' 

1 - x2 

(ii) If Y = 3 2 X + X 

P.T.O. 
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(6) 

(i) ~ 2z=l-y2 cim y=x2_+3 

1- x2 

(ii) ~ Y=--x3 :+ 2x 

Unit - III 

~-III 

6. Calculate the Median ar:id Mode from the data 

given below. 

Value Frequency 

0 -10 4 

10- 20 12 

20-30 24 

30-40 . 36 

40-50 20 

50-60 16 

60-70 8 

70 -80 5 

7. Calculate the Standard deviation from the fol ­

lowi.ng data: 

A-89 

I 

I I 

1, 

(7) 

Size of Holdings · No. of Farmers 

3ITffi q51 m fcb~1 .. fi c5t ~ 
0 - 2 

2-4 

4-6 

6-8 

8-10 

10-12 

12-14 

Unit - IV 

~-IV 

1,000 

2,300 

3,600 

2,400 

1,700 

3,000 

500 

8 . · Calculate Karl Pearson's coefficient of correla ­

tion from the following table and analyse your 

results: 

RARlrua ~ '9" eprrf M<HT.-J q51 tlstF~Hi ~ 

$l ~ cfl!IT ~ ·m~flflUI -~ :. 
X y 

2 18 

4 12 

5. 10 

6 8 

8 7 

11 5 
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(8) 

9 . Col'T)pute Fisher's Ideal Index Number the fol­

lowing table and explain why Fisher's Index 

number is Ideal: 

RAi°arua ~~~<PT ~ad5id5 We'[.~ <'fW 

~ ~ ra, erg~ cmr·t= 
Commodity 2011 2016 

~ Price Quantity Price Quantity 

~ ~ ~ ~ 

A 4 so 10 40 

B 3 10 9 12 

C 2 5 4 3 

D 5 20 6 8 
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